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uses crtt?

Llabel METKA j

dabel HMETEKAL:

begin
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end.
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label METKA

uses crt;

label METEA:

begin

METEA:writeln ('HMadoprmaTHra’)
goto METEKAL:

end. |
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uses crt;

label METEKAL;

begin
METKA:writeln ('MadopMaTHra');

goto METKL;

end.
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CocTaBuTb nporpamMmmy Ans
BbIYNCIIEHUA:

X:=12*b/(2-a)



uses crt;
var a,b,x:real;

begin
read (a,b);
if (@a=2)then
writeln ('HeT pewieHnn’)
else
begin
writeln ('"EcTb pelueHus');
X:=12*b/(2-a);
writeln (x);
end;
end.
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+|If_else.pas I

uses crt;
var a,b,x:real;

begin
read (a,b): EcTe pemweHMA
if (a=2)then 24
writeln ('HeT peweHMit')
else
begin
writeln ('EcTep pewenua'):
x:=12%b/ (2-a):
writeln (x):
end’
end.
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+|f_else.pas I

uses crt;
var a,b,x:real;

begin
read (a,b): HeT peweHMHI
if (a=2)then -
writeln ('HeT peweHwusi')
else
begin
writeln ('EcTe pewenma'):;
x:=12%b/ (2-a):;
writeln (x):;
end;
end.
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uses crt;
var a,b,x:real;
label METKL;
begin
METKAL:read (a,b):
if (a=2)then
begin
writeln ('HeT pewenmit'):
writeln ('BeenuTe Opyroe SHUeHME a');

goto METKAL;

end
else

begin
writeln ('EcTe peweHMa');

x:=12*h/ (2-a);
writeln (x):;

end;
end.
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l:remsd [a.,D]) 7

AT (a=Z)]then
beginm
writeln ("HeT pewemyoe' ) >
writeln ("EmsamTse SaE pamt ) o
geote 1
end
else
beganm
wriceln ('EcT:s pemenmms' ) 2

il o v=4x/12b+10

end
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end.




